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ISR DHSEE TFEBMRETHBER
% g - AKTiE Bifr 2 fiff & #B w E

BRI 17,158,480 + 231,796 17, 390, 276
BEEAGE 17,158, 480
E#ERE 231,796
T At R i 17,158,480 x 53.85% ( 35% + (1 — 35%) ) 9,239, 841
KHRE 17,390,276 + 9,239, 841 26, 630, 117
—REEEZ 26,630,117 x 53.85% ( 35% = (1 — 35% ) ) — 435 14, 339, 883
KB 26,630,117 + 14,339, 883 40, 970, 000
HEREHELE 40,970,000 x 10.00% 4,097, 000
£BEAH 40,970,000 + 4,097,000 45, 067, 000




BEANRE SHSEE TEBMIIRBLS

£ b R - BT Bify #H = B * 8§ =

B R 17,390, 276

TEA R THER 17,390, 276

TEA R THER 17,390, 276

FIEFHBIETE 17,158, 480

IEFHFINBRUHERER (BEHEE 5, 448, 400

) ZEDER

1 IERIRERUVHERER BET 2.00 562, 960 1,125, 920
HE) S0 %

2 IERANERUVHERER (B=5T 2.00 205, 200 410, 400
HE) E0M%E/K Q) %

S IFERANERUVHERER (BE5T 2.00 572,960 1,145, 920
HE) Z0M%E/KO) %

4 TEXIRERUVHERER (B=5T 1.00 1,150, 400 1,150, 400
HE) S0/ @ %

b IFRANERUVHERER (BE5T 3.00 103, 520 310, 560
HE) E0#%EKG) %

6 IEHRANERUVHERER (BE5T 2.00 87,120 174, 240
HE) S0 (6) %

T IERANERUVHERER (BE5T 1.00 100, 240 100, 240
HE) Z0E D) %

8 IEHRAINEEAUVHERER (H=5T 4.00 257, 680 1,030, 720
HE) E0M%E/KO) %

EEBNEHER 8, 765, 920

9 FEHEBREHIERK (1) 1.00 721,920 721,920
I=

10 FEHEBWE HERK (2) 1.00 532, 560 532, 560
I=

11 FBEEBWEHER () 2.00 332, 800 665, 600
I=

12 FEHEBWE HER (4) 2.00 1,076, 800 2,153, 600
I=




BEANRE SHSEE TEBMIIRBLS

13 FEHEBWE HER (B) 1.00 1, 456, 480 1, 456, 480
I=E

14 FEHEBRE HERK (6) 3.00 300, 960 902, 880
I=E

15 FEHEBWE HER (T) 2.00 252,720 505, 440
I=E

16 FEHEBWE HERK (8) 1.00 1217, 600 127, 600
I=E

17 FBEBWE HERK (9) 4.00 424,960 1,699, 840
I=E

BEVATLADT—E AR 2, 365, 360

18 BERTLADT—E2AH() 2.00 182, 560 365, 120
I=E

19 BERTLADT—E2AH(2) 2.00 149, 280 298, 560
I=E

20 BELRATLADT—2AHQ) 2.00 246, 240 492, 480
I=E

20 BEVRTLADT—E2 AN 1.00 310, 240 310, 240
I=E

2 BELVRATLADT—2 AN G) 3.00 106, 240 318,720
I=E

B BEVRTLADT—2AN(O6) 2.00 87,120 174, 240
I=E

24 BELRTLADT—2 AR 1.00 72, 560 72,560
I=E

25 BEVRTLADT—2ANO) 4.00 83, 360 338, 440
I=E

HEE 462, 000

26 {TEE 11.00 42,000 462, 000
=

& - e 116, 800

27 & - |E 1.00 116, 800 116, 800
=

EERE 231,796




BEANRE SHSEE TEBMIIRBLS
EHEERE 165, 796
28 EEALE 1.00 165, 796 165, 796
=
[pE 66, 000
29 ¥BRERE 1.00 66, 000 66, 000
%




=

Rifiz -/ \v7r—o

1

THSEE FEBMAEIMMES

5
£ IRFIRARUVHERER BEHES) FOEKA) I%E (1I3H)
2 Lo R - KT By = B ff | # H %
HER (A)
A 0.30 51, 200. 00 15, 360
A (B)
A 1.10 41, 600. 00 45,760
AR (C)
A 15.30 32, 800. 00 501, 840
& B 1E%HEH :1.00T=E 562, 960. 00 562, 960
=5:2
£ IRFIRARUVHERER BEHESE) TOEK(Q) I%E (1I3H)
2 Lo R - KT By = B ff | # H %
HER (A)
A 0.10 51, 200. 00 5,120
AR (C)
A 6.10 32, 800. 00 200, 080
& B 1E%HEH :1.00TE 205, 200. 00 205, 200
=:3
£ IRFIRARUVHERER BEHESE) TOEKO) I%E (1I3H)
2 Lo R - KT By = B ff | # w %
HER (A)
A 0.30 51, 200. 00 15, 360
AR (C)
A 17.00 32, 800. 00 557, 600
& B 1E%HEH :1.00T=E 572, 960. 00 572, 960




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

=:4
£ IRFIRARUVHERER BEHESE) TOEKG) I%E (1I3H)
2 Lo R - KT By = B ff € &8 # H %
HER (A)
A 0.60 51, 200. 00 30, 720
A (B)
A 2.00 41, 600. 00 83, 200
AR (C)
A 31.60 32, 800. 00 1,036, 480
& B 1E%HEH :1.00T=E 1, 150, 400. 00 1, 150, 400
=:5
£ IRFIRARUVHERER BEHESE) TOEKOG) I%E (1I3H)
2 Lo R - KT By = B ff € &8 # H %
HER (A)
A 0.10 51, 200. 00 5,120
AR (C)
A 3.00 32, 800. 00 98, 400
& B 1E%HEH :1.00TE 103, 520. 00 103, 520
=:6
£ IRFIRARUVHERER BEHESE) TOERKG) I%E (1I3H)
2 Lo R - KT By = B ff € &8 # w %
HER (A)
A 0.10 51, 200. 00 5,120
AR (C)
A 2.50 32, 800. 00 82,000
& B 1E%HEH :1.00T=E 87,120.00 87,120




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

=5:17
£ IRFIRARUVHERER BEHESE) FOEKD) I%E (1I3H)
2 Lo R - KT By = B ff | # H %
HER (A)
A 0.10 51, 200. 00 5,120
AR (C)
A 2.90 32, 800. 00 95,120
& B 1E%HEH :1.00TE 100, 240. 00 100, 240
=5:8
£ IRFIRARUVHERER BEHESE) TOEKG) I%E (1I3H)
2 Lo R - KT By = B ff | # w %
HER (A)
A 0.10 51, 200. 00 5,120
AR (C)
A 1.70 32, 800. 00 252, 560
& B 1E%HEH :1.00T=E 257, 680. 00 257, 680
=:9
2% BERLERMER () I%E (1I3H)
2 Lo R - KT By = B ff | # w %
HER (A)
A 1.20 51, 200. 00 61, 440
A (B)
A 10. 20 41, 600. 00 424, 320
AR (C)
A 1.20 32, 800. 00 236, 160
& B 1E%HEH :1.00T=E 721, 920. 00 721,920




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

£:10
R FEEARMERERL (2) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.90 51, 200. 00 46, 080
HEm (B)
A 7.20 41, 600. 00 299, 520
A (C)
A 5.70 32, 800. 00 186, 960
& E%2E:H - 1.00TE 532, 560. 00 532, 560
211
2 FEEARMERER (3) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.70 51, 200. 00 35, 840
HEn (B)
A 4.30 41, 600. 00 178, 880
A (C)
A 3.60 32, 800. 00 118, 080
& E%RH - 1.00LE 332, 800. 00 332, 800
212
L FEEARMERER (4) I%E (1I%)
% 7 R - AR R BAf = B i £ & B =
HEm (A)
A 1.90 51, 200. 00 97, 280
HEn (B)
A 22.60 41, 600. 00 940, 160
A (C)
A 1.20 32, 800. 00 39, 360
& E%RH - 1.00LE 1, 076, 800. 00 1,076, 800




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

213
R FEEARBLE RHERL (B) I%E (1I%)
%4 7 R - AR R BAf = B i & # # B &
HEn (A)
A 2.60 51, 200. 00 133,120
HEm (B)
A 28. 50 41, 600. 00 1, 185, 600
A (C)
A 4.20 32, 800. 00 137, 760
& E%2E:H - 1.00TE 1, 456, 480. 00 1, 456, 480
214
L F  FEEARBLE RHERL (6) I%E (1I%)
%4 7 R - AR R BAf = B i & # # B &
HEn (A)
A 0.50 51, 200. 00 25, 600
HEn (B)
A 5.20 41, 600. 00 216, 320
A (C)
A 1.80 32, 800. 00 59, 040
& E%RH - 1.00LE 300, 960. 00 300, 960
215
2R FEEARMERER (T) I%E (1I%)
% 7 R - AR R BAf = B i & # & B =
HEm (A)
A 0.40 51, 200. 00 20, 480
HEn (B)
A 4.40 41, 600. 00 183, 040
A (C)
A 1.50 32, 800. 00 49, 200
& E%RH - 1.00LE 252, 720. 00 252, 720




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

216
R FEEARBLE RHERL (8) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.30 51, 200. 00 15, 360
HEm (B)
A 1.20 41, 600. 00 49, 920
A (C)
A 1.90 32, 800. 00 62, 320
& E%2E:H - 1.00TE 127, 600. 00 127, 600
.17
R FEEARBLE RHERL (9) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.50 51, 200. 00 25, 600
HEn (B)
A 9.60 41, 600. 00 399, 360
& E¥REH - 1.00LE 424, 960. 00 424, 960
=18
W BELVRATLADT—2AAN) I%E (1I%)
% 7 R - AR R BAf = B i £ # B =
HEn (A)
A 0. 60 51, 200. 00 30, 720
HEm (B)
A 1.60 41, 600. 00 66, 560
A (C)
A 2.60 32, 800. 00 85, 280
& E%REH - 1.00LE 182, 560. 00 182, 560




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

219
W BELVRATLADT—2AAQ) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.50 51, 200. 00 25, 600
HEm (B)
A 2.50 41, 600. 00 104, 000
A (C)
A 0. 60 32, 800. 00 19, 680
& E%2E:H - 1.00TE 149, 280. 00 149, 280
2.2
W BELVRATLADT—2AA0) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.50 51, 200. 00 25, 600
HEn (B)
A 4.20 41, 600. 00 174,720
A (C)
A 1.40 32, 800. 00 45,920
& E%RH - 1.00LE 246, 240. 00 246, 240
.21
B BELVRATLADT—2AH®B) I%E (1I%)
% 7 R - AR R BAf = B i £ & B =
HEm (A)
A 0. 60 51, 200. 00 30, 720
HEn (B)
A 5.30 41, 600. 00 220, 480
A (C)
A 1.80 32, 800. 00 59, 040
& E%RH - 1.00LE 310, 240. 00 310, 240




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

2.2
W BELVRATLADT—2AAG) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.40 51, 200. 00 20, 480
HEm (B)
A 0.80 41, 600. 00 33, 280
A (C)
A 1.60 32, 800. 00 52, 480
& E%2E:H - 1.00TE 106, 240. 00 106, 240
2.23
W BELVRATLADT—2AA®6) I%E (1I%)
%4 7 R - AR R BAf = B i £ # B &
HEn (A)
A 0.30 51, 200. 00 15, 360
HEn (B)
A 0.70 41, 600. 00 29,120
A (C)
A 1.30 32, 800. 00 42, 640
& E%RH - 1.00LE 87, 120. 00 87,120
2.2
W BELVRATLADT—2AAD) I%E (1I%)
% 7 R - AR R BAf = B i £ & B =
HEm (A)
A 0.20 51, 200. 00 10, 240
A (C)
A 1.90 32, 800. 00 62, 320
& E%REH - 1.00LE 72, 560. 00 72, 560




Rifiz -/ \v7r—o

THSEE FEBMAEIMMES

5:25
2 RBEVARTLADT—E2ANG) I%E (1I%)
£ 7 R - KT By = B Of | # B &
HEn (A)
A 0.20 51, 200. 00 10, 240
HER (B)
A 1.60 41, 600. 00 66, 560
A (C)
A 0.20 32, 800. 00 6, 560
& B 1E%HEH :1.00T=E 83, 360. 00 83, 360
5:26
&% A& [ (1[@E)
£ 7 R - KT By = B Of | # B &
HEn (A)
A 0.50 51, 200. 00 25, 600
A (C)
A 0.50 32, 800. 00 16, 400
& B {EZ8ER - 1.00ME 42,000. 00 42,000
5:27
B 1%iE - | ® (1K)
£ 7 R - KT By = B Of | # B =
HEn (A)
A 1.00 51, 200. 00 51, 200
A (C)
A 2.00 32, 800. 00 65, 600
& B EZBER - 1.00= 116, 800. 00 116, 800
H5:28
2% EHARE 1LY
£ 7 R - KT By = B Of o # B =
EHARE
= 1.00 165, 796. 00 165, 796
& it 1EZBER - 1.00 165, 796. 00 165, 796




Rifiz -/ \v7r—o

RHSEE FEBMAIMHBRS

H5:29
2 EBHRRE ® (1K)
2 Lo R - KT By B = B Of ol | # B &
(BHRERE
= 1.00 66, 000. 00 66, 000
& it EZBER - 1.00= 66, 000. 00 66, 000

10




